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MR | FEeEl B *HI5| mERE | B RRE | FER BE —fi& | MEEX RRE |2
(%) | mhk bR (fﬁg) %) | mEK | WK | BE | ®BEK | ®EK
B
EHE 130 15 115 58 | 24,056 4,823 46 74 4,035| 15,078 1,570 999 1,022
EA 14 - 14 10 2,622 372 4 - 444 1,802 146 51 104
/NEETH 3 - 3 1 738 260 - - 42 436 29 38 19
{EAT 7 - 7 5 1,427 112 4 - 242 1,069 74 13 55
N3] 1 - 1 1 99 - - - 49 50 2 - 3
NI B4 - - - - - - - - - - 2 - 1
B AT - - - - - - - - - - 4 - 1
RIHHAR - - - - - - - - - - 1 - =
JeARAK - - - - B - - - - - 1 - -
12 AR ET 1 - 1 1 97 - - - 45 52 6 - 4
2% R HET 1 - 1 1 103 - - - 24 79 17 - 12
fiE 4 EH T 1 - 1 1 158 - - - 42 116 6 - 6
SLELET - - - - - - - - - - 4 - 3
Ein 16 3 13 7 2,615 557 4 - 842 1,212 120 181 89
L+ HH 13 2 11 7 2,314 456 4 - 842 1,012 99 143 76
EXE il 2 1 1 - 161 101 - - - 60 15 38 10
N - - - - - - - - - - 2 — 1
FFOMT 1 — 1 - 140 - - - - 140 4 - 2
il 11 1 10 5 2,026 308 4 — 221 1,493 144 120 98
R 3 - 3 2 655 201 4 - 74 376 33 66 28
SREATH 3 1 2 1 580 107 - - 48 425 46 16 29
FEHh 1 - 1 1 360 - - - 45 315 39 23 20
T SEHHET 3 - 3 1 270 - - - 54 216 14 - 14
=1 RHT 1 - 1 - 161 - - - - 161 8 15 4
[R#F - - - - - - - - - - 4 - 3
EFHR 10 3 7 3 1,604 330 4 - 318 952 135 60 86
FEAR 4 1 3 2 780 116 4 - 210 450 59 26 38
Eo/rtRh 3 1 2 - 475 129 - - - 346 32 19 14
REFHT 1 - 1 - 100 - - - — 100 14 — 12
H b T 1 - 1 1 164 - - - 108 56 11 - 9
B S HT - - - - - - - - - - 5 — 5
Fa E dm AT 1 1 - - 85 85 - . - _ 9 - 3
CIES] - - - - - - - - = - 2 - i
=EH - - - - - - - - - - 3 15 4
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iR R 10 — 10 6 1,790 240 4 - 471 1,075 135 57 81
fRET™H 7 — 7 4 1,482 240 4 — 369 869 87 38 61
¥ )1 BT 1 — 1 1 112 - — — 46 66 6 — 5
= FRHT 1 - 1 1 111 - - - 56 55 8 - 4
Bl e T 1 - 1 - 85 — - - - 85 5 - 2
Rl 25 A - — - - - - - - - - 10 19 1
EAF - — - - - - - - - - 1 — —
BFH - - - - - — - - - - 2 — —
TEHR - - - - - - - — — - 2 - 1
FEARF - - - - - - - - - - 1 — 1
RKEEH - - - - - — - - - - 2 — —
RER - - - - - - - — — — 2 - 1
B - — - - - - - - - - 3 — 2
SrH - — - - - - - - - - 3 — 3
KEEH - - - - - - - - - - 3 — —
E 1 - 1 1 259 - 4 - 48 207 19 - 12
it /N - - - - - - - - - - 4 - 1
B S BT - - - - - - - - - - 2 - 1
REH - — - - - - - - - - 2 — 1
EEH - - - — - - - - - - 1 — —
REH - - - - - - - - - - 2 - 1
AEHT 1 - 1 1 259 - 4 - 48 207 8 - 8
A 28 5 23 8 5,141 1,181 6 50 515 3,389 368 180 222
WATH 18 3 15 4 3,749 841 6 50 248 2,604 229 116 141
BRH 5 — 5 3 429 — — — 219 210 40 9 32
ZEHH 5 2 3 1 963 340 — — 48 575 87 55 41
FRAE TS - - - - - - - - - - 2 - 2
iRt - - - - - - - - - - 1 — 1
TfiZ ) - - - - - - - - - - 5 - 2
LEISES - - - - - - - - - - 1 - 2
A - - - - - - - — — - 3 - 1
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Kik 2 — 2 1 598 120 4 — 62 412 53 45 24
AETTH 1 — 1 1 278 — 4 — 62 212 29 26 11
; FH HT 1 — 1 — 320 120 — — — 200 7 — 3
IF - - - - - - - - - - 8 - 5
B 5+ - - - - - - - - - - 7 19 4
INFE — — - - - - - — — — 2 — 1
E 35 3 32 15 6,508 1,531 8 24 1,032 3,913 392 269 273
s adit] 26 2 24 9 5,045 1,435 4 — 638 2,968 287 229 210
AR 2 — 2 1 437 — 4 24 76 333 40 36 25
Faith 4 1 3 2 611 96 - — 158 357 38 — 21
SRIRET - = - - = = = - = = 10 - 5
Nt 1 — 1 1 155 — — — 59 96 6 — 4
= L - - - - - - - - - - 3 4 1
(S =T 1 - 1 1 99 - - - 50 49 3 - 3
NITF - - - - - - - - - - 1 - 1
B 45 BT 1 — 1 1 161 - - — 51 110 4 — 3
L{E 3 — 3 2 893 184 4 — 82 623 58 36 33
hE3h 2 — 2 1 609 184 4 — 38 383 28 36 21
fRILTH 1 — 1 1 284 — - — 44 240 14 — 6
L/ T - - - - - - - - - - 5 — 3
ASFH - = = = - = = = - = 4 - 1
FRBERHM - - - - - - - - — - 4 — 1
£+t - - - - - - - — 3 — 1
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